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90.  Consider the following statements with 

regard to the Enforcement Directorate: 

1.  It is a part of the Department of 

Revenue, the Ministry of Finance.  

2.  Its prime objective is the enforcement of 

the Foreign Exchange Management Act 

(FEMA), 1999, and the Prevention of 

Money Laundering Act (PMLA), 2002.  

Which of the statements given above is/are 

correct? 

(a)  1 only 

(b)  2 only 

(c)  Both 1 and 2 

(d)  Neither 1 nor 2 

 

91.  Consider the following statements with 

regard to the Development Financial 

Institution: 

1.  It will provide long-term credit for 

capital-intensive investments.  

2.  Initially it will be 100% owned by the 

government.  

Which of the statements given above is/are 

correct? 

(a)  1 only 

(b)  2 only 

(c)  Both 1 and 2 

(d)  Neither 1 nor 2 

 

92.  Consider the following statements about 

Cheetah: 

1.  It is the world’s fastest land mammal.  

2.  Asiatic Cheetah is extinct all over the 

world. 

Which of the statements given above is/are 

correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

 

93.  The Wild Ass Wildlife Sanctuary is located 

in which of the following states? 

(a)  Madhya Pradesh 

(b)  Rajasthan 

(c)  Gujarat 

(d)  Maharashtra 

94.  ‘4 per 1,000’ Initiative is most closely 

related to which of the following? 

(a)  Afforestation 

(b)  Reduction in anaemia among women 

(c)  Prevention of digital payment failure 

(d)  Carbon storage in agricultural soils 

 

95.  Consider the following statements with 

regard to the Extra Budget Borrowing: 

1.  It is excluded from the fiscal deficit 

calculations. 

2.  It is excluded from the total debt 

calculation of the government. 

Which of the statements given above is/are 

correct? 

(a)  1 only 

(b)  2 only 

(c)  Both 1 and 2 

(d)  Neither 1 nor 2 

 

96.  Which of the following is/are the 

similarity/similarities between the 

Gandhara School and the Mathura School? 

1.  Both were patronised by the same 

rulers. 

2.  Both used spotted red sandstone. 

3.  Both were indigenously developed.  

Select the correct answer using the code 

given below: 

(a)  1 only 

(b)  1 and 2 only 

(c)  1, 2 and 3 

(d)  None of the above. 

 

97.  Consider the following statements with 

regard to the administrative set up in the 

Chola Empire: 

1.  ‘Ur’ was the assembly in the villages, 

which were inhabited predominantly by 

the Brahmanas. 

2.  ‘Sabha’ was in the non-Brahmanical 

settlements. 

Which of the statements given above is/are 

correct?  

(a)  1 only 

(b)  2 only 

(c)  Both 1 and 2 

(d)  Neither 1 nor 2 
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